Term 1: Equations & Inequalities
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1! Beywords

what do | need to be able to | Function: a relationship that instructs how to get from an nput to an cutput

@ || Ihput: the number/ symbol put into a function

By the end of this unit you shouid be abe | | Output: the rumber/ expression that comes out of a function

to : | Operation: & mathematical process

* Be dbke to wse mverse operations and (| Iverse: the, operation that undoes what was done. by the previous operation (The. opposte. operdtion)
‘operation familes’ 1| Commutative: the order of the operations do not matter
Be abk (o substitute into singe and | | Qubstitute: reslace one variable with a number or new variable
twio step function machines | Expression: i maths sentence with a minimum of two numbers and ol least ore math operation (no equaks sign)
Find functions from expressions (! Evaluate: work ot

Form sequences from expressons I | Linear: the difference betieen terms increases or decreases by the same valie each time
Represent functions araphicaly

ars - A
il Single function machines (algebra)
| on INPUT OUTPUT
Hehe! booutytyty 20-h
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To findthe input from the autpat rkpieaton e 0

. , . W rumber of
) . donz inary order 4 ol of ' To find the input from the. cutput
sz the INVERSE cperation ! LJse the INVERSE operation

——
The box gues the caculation instruction 4xy

4y €—— 4dbisoly
ff y = 7 this means the expression is asking for 4 g_, — — %

Fnd the relationship between the input and the. output ~ ~ Cacuate the vabe of the end of each operation
-~ w__~
For the nput use the INVERSE operdtions

Sometimes there can be. a number of possibk functions
eq +7x or X A could both be solutions to the above
function machine

There is more to ths than st
spotting the arswier
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| Like and wnlke tesms | Colecting lke terms = symbol
| Like terms are those whose vandbles are he same | | Check equivaence by substitution | The = symbol mears equivdent to

Q md 3  aeiketems | egmI0 |1t is used to identify equivalent expressions
5m AX Am 7m — 3m

5 10 Ax (2x10) (7x10) — [3x10)
-70-30

Colecting ke terms

the varisble 15 Only ke terms can be combrned

the same

K& 3Q are unlke terms
A

the variables are

- 50 -Ax A0
-40 - 40

4x +So —x +10p
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Equivakent expressions
Repedt. this with varols valves for m to check
NOT the same

Common misconceptions

Like terms Un-kke teqns
ur e ot 334 = bx 3

e , A

ob, 10bar o, 10t Githough they both have the. x varsbie x2 and x terms are un-

B, -2 \ A, -t ke. terms <o can rot be. colected

<

|
|
|
|
|
|
|
|
|
|
Examples and non-examples |
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Mele here ab and ba are. commiialive opesations, so are stil ke teams




